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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours PART-1I Examinations, 2018

ECONOMICS-HoNOURS

PAPER-ECOA-IV

Time Allotted: 4 Hours Full Marks: 100

Thefigures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

~ ~ ~ ~-1.1-:rR~ <ffl! I
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Use separate Answer Book for each Group and mention the Group 011 Answer Book
~~~ 1~~9(Jj~ ~~<r~ ~~~~ ~t;f~~

Group-A
~~-~

l. Answer any three questions from the following within 100 words each:

H~fd1~ c<l-~ ~ ~ m 1fI'e ~ ')00 ~fV~f~PIT:<1Jg

4x3 = 12

(a) Distinguish between economic growth and economic development.

\5i~. ~ \5i~ \5::j~U'l~~<1J 9ffffi m9f'i ~ I

(b) Define economic development in terms of capability.

>j,*~~RfU~I~\5i~ \5::j~C"l~~\~ 'ff~ I

(c) Explain the use of Lorenz curve to make judgements on the pattern of
income distribution in a country.
~ ~ ~~ ~f<t<lv.T ~ ~'Bf ~~@ @~ ~ <m-<m
~I

(d) What is meant by demographic dividend?

~\~ ~\~ <fC'fC\5 ~ ~ ?

(e) Why is 'Big-push' needed in a less developed Country?

\!l~ 11'Ctlf::\\5 \5i~ '~ ~~ ~ ~ <:<FT?

2. Answer anyone question from the following:

~c<l-~~~~m'ff~g

8xl = 8

(a) From a comparison between Marx and Rostow with regard to stages of
economic growth.

\5i~ \5::j~C"l~~ f<t<lv.T~ \!l~\ ~ ~ ~ I
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(b) Explain the concept of low level equilibrium trap. What are the routes
through which an economy can escape from this trap?
'H';i'<?30!l<;1~(<;1)i1C~J<;1<:ftq' -l£l"<;1~'itfG ~ <fl@( I ~ l£l<fifG~ ~ l£l~ <:ftq
C~~~m~?

(c) Discuss the role of capital in economic development of a country.

l£l<fifG~ \5[~ ~ ~~ ~ \511CC4(!5~(<fl@( I

3. Answer any two questions from the following: 15x2 = 30

~c<r-~~~~'1t'8g

(a) What factors are responsible for differences in technological choice between 5+ 10
less developed and developed countries? Discuss in this context the conflict
between employment and surplus generation in the process of choice of
techniques in less developed countries.

'@lHl~~ '8 ~ ~ "K(f.f ~ m!5C~<;1 ~ ~ ~ f<l<r.:T ~ ? l£l~ ~
'@:HH~ oo;xt '@~9ft'R ~ ~ ~ ffi\~ l£l~ ~ ~"K(f.f mt~
~ \5[f[C'jl!5~l~ I

(b) Define Head-Count ratio and Income-Gap ratio. Indicate their limitations.
How does Sen's poverty measure avoid these shortcomings? - Explain.

'~'<It ~~ \5foi9((\5' l£l~ ' \5fffi-m \5foi9((\5'-l£l"<;1~~ '1t'81 qlrk~<;1 ~9f<ll ~
l£l~m ~~1<jv.ii\!)1~ <fl@( I ~ ~ ~ ~ l£l~~~~ l£l~ 9fmf ?

~~I

(c) Explain the concept of sustainable development. In this context explain the
process of environmental accounting in determining sustainable Net
National Product (NNP) in any country.

~ <n <j~~"*~ '@;j~C~<;1~'itfG ~ <fl@( I l£l~~ ~ oo;xt ~ '~~
'@~~' (NNP) R~'Bf ~ ~'ij\5 ~ ~~<fl@( I

(d) What is balanced growth? Give arguments in favour of balanced growth
strategy. How these strategies differ from unbalanced growth strategies?

~ ~ ~ ~? ~ ~ ~ ~~ 'ffi3> '1t'81 l£l"<;1~N ~ ~
~m9ft~~~?

Group-B
~~-~

4. Answer any three questions from the following within 100 words each:

~<j\5c<r-~~~~'1t'8~ ~oo~"K(f.fg

(a) Give reasons in favour of protection of commerce.

~ ~'Bf ~ ~~ 15l1CC4f!5<1(<fl@( I

(b) Discuss the functions of International Monetary Fund.

15l1~1S1i~<t'~ B(~~ <t'14i1ci1~ ~ I
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(c) What do you mean by "Unequal exchange"?
(~~'~~c<m<m?

(d) What do you mean by 'decentralised planning'?
'M(Al@f\5 9JR~~"lt' ~ ~ c<m<m?

(e) What is 'Import substitution'?
'\5jl~l1~ 9JR1\!5\5t' ~ <[C1 ?

5. Answer anyone question from the following:
~~ c<r-~ \!l<t>ffi ~ ~"l1i'8~

8xl = 8

(a) "Trade acts as an engine of growth" - Write a short note in this context.
«~ ~ ~ ~ Qi?;9f ~ ~ I" - \£l~ ~ \£l<:pJG ~\~~ ~

CC'K"<li 1

(b) Write a critical note on the 'Structural adjustment programme' ofIMF.
IMF -\£l~ '~')j\5 ~~ ~~>[5hr-e~ \£l<:pJG ~~t<P111)"lli<ij~ ~ ~ 1

(c) Discuss how the development of the centre leads to the under development
of the periphery.
~ ~ ~ 9fRTI~ \5j1::j~C"lcW10rn \5t \5jfCG'!~t ~ 1

6. Answer any two questions from the following: J5x2 = 30
~ c<r-~ ~ ~~"l1i'8~

(a) What are the salient features of multinational corporations? Critically 5+ 10
examine the role of foreign multinationals in fostering the process of
economic development of less developed nations.
1~iStlf\5<p ~\~~ ~~'19~~~ ~~ ~ 1 llC~ffi\5 ~~ \5j~
~ '?ACl1~ 1~iStlf\b<p ~\~~ c<r~ ~ ~, ~ ~~1CC4~li<ij~ <m~
"l1i'81

(b) Write a critical note on the policy of export promotion as an effective means 15
of industrialisation.
fflHlC"l'!1 ~~ ~ ~~-~ ~ ~r~1~\51 ~ \£l<:pJG ~fCG'!tD"lli<ij~ ~
~I

(c) What is the 'infant industry argument' for protection? Critically examine the 5+10
infant industry argument for protection, with examples.
'~-m ~\~'i' ~ <[C1 ? ~-m ~\~'i'!1" ~ ~~ ~~t<P111)"l1~
\5jfCC4tD"l1~ 1

(d) Do you support the Prebisch-Singer thesis? Justify your answer. 7+8

~~Prebisch-Singer~~~~?~~~~~1
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